Harjoitus 3, syksy 2010

1. Ratkaise seuraavat epayhtalot

)

¢) |[xt—6]>3—2x
) |z =3+ |x* =3z +2| <2
)

a) 202 —4r+2 >0 Vast: x € R\{1}
b) 22 —x+2<0 Vast: ei ratk.
c) —x?—4x—-3<0 Vast: 2 < -3 V oz > —1
d) 224+2-1<0 Vast: =i=¥8 < o < Z14V5
e) 22% —5r? —4r +3 <0 Vast:xg—lv%§x§3
f) —42% +52% — 22 < -zt Vast: 0 < x < 2
. Ratkaise seuraava epayhtalo
§<3xx_1§2 Vast:§<x<l
. Ratkaise seuraavat epayhtalot
a) |z|+ 3z —1| <4 Vast: =2 <z <3
b) |z —6] <3—2z Vast: x < =3
Vast: ¢ > —3

Vast: 1l <z <3

Vast

x <=3V z>3



